o(0 @) (rad)

a(d cot(d))

1072

01073_.... + + 010—3_
E=RNE| SN (R T SR T N . et E= 2|
g 1 #.4 + n++++f g H+
(oXe] o EEEPFPRPREYS / SPREPEPE. SEPEPITE/PEPRPRETEPY | oW 0.9F------1 S T SRREE .1 /LTEEEEPEPTPREE P
£ : +++++++++ ++++++++ : : +++ +++*+ +++
083~ =1 0 12 3 08— T2 3
TP n (PCA to beamline) TP n (PCA to beamline)
—=— DQM_V0001_R000000001__Global__cmssw__RECO
—e— DQM_V0001_R000000001__Global__mkFitOriginal__RECO
—— DQM_V0001_R000000001__Global__mkFitNew_ RECO
~ 1 -
= - £ T ST T ST ST N
2 L e
P N gN L S SN S S
S T o
5/ o o 10—1 - -
107}
-2 .
102 1072k
.g JUJ.: : .g ; 1 ?; E
§ Lo I N (TR
= | g ' oob
oo ol Bt IR LA .
0833 —1 5 T2 3 083———=3——"T 0 T2 3
TP n (PCA to beamline) TP n (PCA to beamline)
n=
<
D_'_
o
o}
107}
1072
9 1.0
T
o
£
0.95

TP n (PCA to beamline)



	Contents
	Page 1


